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funkce pravé a modifikatory

Print output (drag lower right corner to resize)

Write code in [ Python33 %]
(drag lower right corner to resize code editor) [1 v 2, 3] ’ [2 v 3, 4]

def increment_pure_function(x): (2. 3. 41, 12,3, 4], [2, 3, 4]

v =[] 4
for item in x: Frames Objects
v.append(item+1
PP ( ) Global frame function
return(v) Increment._pure_ function /——)1'ncrement_pure_function(x)
def increment_modifier(x): increment_modifier e function
for 1 1n r-ange(]_en(x)>: - increment_modifier(x)
x[1] = x[1]+1 b et
return(x) ; o |1 |>
2 3 4
a=[1,2,3] ‘
b = increment_pure_function(a) list |
print(Ca, ', "',b) 0 |1 |2
c = increment_modifier(a) 2|3 |4

print(a"s"b":':c) 4


http://pythontutor.com/live.html#code=def%20increment_pure_function(x%29%3A%0A%20%20%20%20v%20%3D%20%5B%5D%0A%20%20%20%20for%20item%20in%20x%3A%0A%20%20%20%20%20%20%20%20v.append(item%2B1%29%0A%20%20%20%20return(v%29%0A%0Adef%20increment_modifier(x%29%3A%0A%20%20%20%20for%20i%20in%20range(len(x%29%29%3A%0A%20%20%20%20%20%20%20%20x%5Bi%5D%20%3D%20x%5Bi%5D%2B1%0A%20%20%20%20return(x%29%0A%0Aa%20%3D%20%5B1,2,3%5D%0Ab%20%3D%20increment_pure_function(a%29%0Aprint(a,',',b%29%0Ac%20%3D%20increment_modifier(a%29%0Aprint(a,',',b,',',c%29&cumulative=false&curInstr=0&heapPrimitives=false&mode=display&origin=opt-live.js&py=3&rawInputLstJSON=%5B%5D&textReferences=false

objekty, tridy a tak

write code in [Python33 :] (drag lower right corner to resize code editor) Frames Ob]eCtS
class MyTime: Global frame MyTime class
e o . hide attributes
def __1n1t7_(se1f3t1me=None): MyTime ,_ﬁ_\\\\t» ~ [ rorcoon
self.time = time AT toTn | —init__ | 5nit_ (self, time)
R ) function
def get_mins(self): « get_mins g;tnﬁns(self)
return(self.time[0]*60+self.time[1]) mins 80 | '
function
def mins_to_time(mins): mins_to_time(mins)

return([mins//60,mins%60])

MyTime instance

£1 = MyTime([1,20]) s 1
mins = tl.get_mins() cme 1 ’zo
w— time_vec = mins_to_time(mins)
4

visualisation



http://pythontutor.com/live.html#code=class%20MyTime%3A%0A%20%20%20%20def%20__init__(self,time%3DNone%29%3A%0A%20%20%20%20%20%20%20%20self.time%20%3D%20time%0A%20%20%20%20%20%20%20%20%0A%20%20%20%20def%20get_mins(self%29%3A%0A%20%20%20%20%20%20%20%20return(self.time%5B0%5D*60%2Bself.time%5B1%5D%29%0A%20%20%20%20%20%20%20%20%0Adef%20mins_to_time(mins%29%3A%0A%20%20%20%20return(%5Bmins//60,mins%2560%5D%29%0A%20%20%20%20%0At1%20%3D%20MyTime(%5B1,20%5D%29%0Amins%20%3D%20t1.get_mins(%29%0Atime_vec%20%3D%20mins_to_time(mins%29&cumulative=false&curInstr=0&heapPrimitives=false&mode=display&origin=opt-live.js&py=3&rawInputLstJSON=%5B%5D&textReferences=false

ale pozor

"I
Write code in [ Python 3.3 :] (drag lower right corner to resize code editor) Frames Ob]ECtS
class MyTime: Global frame MyTime class
. . ide attributes
def __init__(self,time=None): ,
. . MyTime .\ init function
self.time = time mins_to_time —Inic_ __dinit__(self, time)
. . function
def get_mins(self): DAt get_mins| .o+ mins(self)
return(self.time[@]*60+self.time[1]) t1
mins 70
def mins_to_time(mins): time_vec to_time (mins)
return([mins//60,mins%60])
list
N 0 1
11 tvec = [1,20] 1|10
12 t1 = MyTime(tvec)
1 H tveC[l] - 10 MyTime ingtance
14 ins = tl. in
mins = tl.get_mins() - time
line that has just executed ‘
=) next line to execute list
0o |1
1|10
<<First <Back Done running (16 steps) Forward>  Last>>



A4 A4

a |este vetsSi pozor na Implicitni parametry

wnte code in [Python 33 :] drag lower right corner to resize Frames ObJeCtS
class MyTime: Global frame MyTime class
. o . hide attributes
def __1n1t7_(se1f?t1me=[®,0]): MyTime e > —
self.time = time ‘1 —INt_ | §nit__(self, time)
. t2
tl = MyTlme() MyTime instance
t2 = MyTime(Q) t3 et
time n° |’
t3 = MyTime([9,0]) ﬁo ‘ 0
\ MyTime j
\\ time
\\


http://pythontutor.com/live.html#code=class%20MyTime%3A%0A%20%20%20%20def%20__init__(self,time%3D%5B0,0%5D%29%3A%0A%20%20%20%20%20%20%20%20self.time%20%3D%20time%0A%20%20%20%20%0At1%20%3D%20MyTime(%29%0At2%20%3D%20MyTime(%29%0A%0At3%20%3D%20MyTime(%5B0,0%5D%29%0A&cumulative=false&curInstr=0&heapPrimitives=false&mode=display&origin=opt-live.js&py=3&rawInputLstJSON=%5B%5D&textReferences=false

implicitni parametry detailnej

Print output (drag lower right corner to resize)

Write code in [ Python 3.3 3

et o e e e L |140145092713432
L \reg IoWErn TIghE Cornet to resiee code SRt 1140145092713432
class MyTime: True
def __init__(self,time=[0,0]): ;
Lt = tim
self.time time Frames Objects

tl = MyTime() Global frame MyTime class

- M Time hide attributes
t2 = MyTime() MyTime > A
print(id(tl.time)) init - .

. . . t1 — = __init___(self, time)
print(id(t2.time))
print(tl.time is t2.time) t2

MyTime instance

list

MyTime instance

time




dict - tuples as keys

Write code in [ Python 3.3 :] (drag lower right corner to resize code editor) Frames Objects
payoff_matrix = [ [(4,4),(1,6)] , [(6,1),(2,2)] ] Global frame st list tuple
# coopef‘ate, cooperate,.mine nayoff matrix | &« > o"F/y 0./1/,,, 04 14
my_profit = payoff_matrix[0][0][0] Sl |
0 1
pm[ c','c'] = (4,4) o il 1|6
pm['d','d'] = (2,2) . |
pm[ C d ] - (1’6) list tuple
pm['d' 'c'] = (6,1) 0 |1 0o |1
my_profit2 = pm['c’, 'c"][@] 6 1
tuple
0 1
2 2
dict
tuple tuple
0 1 0 1
CO llcl 4 4
4
tuple tuple_
line that has just executed 0 1 0 1
=) next line to execute "d" "c" 6 1
tuple tuple
<<First <Back Done running (8 steps) Forward>  Last>> 0 1 0 |1
lld” l'd“ 2 2
tuple tuple
0 1 0 1
c lld 1 6
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dictionary loops ...

o
pm [
pm [
pm [
pm [
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for key 1in pm:
print(key, pmlkeyl)

for key,value in pm.items():
print(key, value)



skladani objektu, dedeni

* ukazeme si na pfrikladu hrace piskvorek

* |ive-coding-session
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skladani

class MyPlayer:
def _ init_ (self, mine_sym, opponent_sym, empty_sym):
:param mine_sym: string my symbol
:param opponent_sym: string opponent symbol
:param empty_sym: string empty symbol
:param win_lLlength: int number of own symbols in a row

:return:
self.m = mine_sym
self.o =

opponent_sym

def»play(self, field):...

def find_best_move(self, moves):...



